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Sample Paper – 2007
Class – X
Subject - Mathematics             
M.M  –   80









        TIME – 3 Hrs.
General instructions -:
(i) All questions are compulsory.

(ii) Question paper contains 30 questions divided into three sections as section A, B, C. Section A contains 10 questions of 1 marks and 5 questions of 2 marks each, section B is 5 questions of 3 marks and 5 questions of 4 marks each  & section C is 5 questions of 5 marks each .

(iii) There is no over all choice but an internal choice has been provided in two questions of each section.

(iv) Use of calculator is not permitted.
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                                           SECTION (A)
1 Marks questions

Q.1 Write the quadratic formula for ‘x’.

Q.2 how many zeroes can, a polynomial of degree ‘n’ has?
Q.3 Write the next two terms of the AP, 1, -1, -3, -5…………

Q.4 If the vertices of the triangle ABC are A (x  , y  ), B​ (x  , y  ), and C (x  , y  ) then
      write the formula for area of triangle.

Q.5 Evaluate: sin2 350 + sin2 550
Q.6 If a pair of linear equations is given by a  x + b  y + c = 0 and a  x + b  y + c  = 0 then

      write the condition for no solution.
                              Q.7 Write the relation between area of the Sector (A) and Length of the arc (L).            
Q.8 Write the formula to find out the Mode of a grouped data.

Q.9 Find out the quadratic equation if its roots are 5 and -2.

Q.10 Find the coordinates of the centroid of ∆ABC whose vertices are A (-1, 0), B (5, -2) 
        and C (8, 2).
2 marks questions

Q.11 Find a cubic polynomial whose zeroes are 3, 1/2 and −1.
                                             OR

        Divide (2x2 + x – 15) by (x + 3) and verify the division algorithm.
Q.12 For what value of k, the system of equations

                x+ 2y = 3, 5x + ky + 7 = 0  has a unique solution.
Q13 Solve for ‘x’

                        36x2 – 12ax + (a2 – b2) = 0
Q.14 If the 10th of an AP is 52 and the 17th term is 20 more than its 13th term, find the AP.

                                                                    OR

          How many terms of the AP 21, 18, 15, 12…… must be added to get the sum 0? 

Q.15 Find the value of k for which the points A (3, 2), B (4, k) and C (5, 3) are collinear.
                                                SECTION (B)

3 Marks questions

Q.16 A card is drawn at random from a well shuffled deck of playing cards. Find the     

          probability that the card drawn is

        (i) a card of spades or an ace       (ii) a red king       (iii) either a king or a queen

Q.17 Solve graphically the system of linear equations

            x + 2y = 3, 4x + 3y = 2

Q.18 Prove that        
                      tan2A + cot2A = sec2A cosec2A – 2

                                                OR

        Without using trigonometric tables, evaluate the following:
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Q. 19 In the given figure AB and CD are two diameters of a circle with centre O 
          perpendicular to each other and OD is the diameter of the smaller circle. 
          If OA = 7cm, find the area of the shaded region. 
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Q.20 In what ratio is the line segment joining the points A (-2, -3) and B (3, 7) divided by 
         the y-axis?Also, find the coordinates of the point of division.
Q.21 Compute the Mode from the following data:                                                

	Age ( in years)
	 0-5
	    5-10
	  10-15
	 15-20
	 20-25
	  25-30
	  30-35

	 No. of patients
	   6
	    11 
	     18 
	     24
	     17     
	     13
	      5


Q.22 From the top of a hill 200m high, the angles of depression of the top and bottom of a 
            pillar are 300 and 600 respectively. Find the height of the pillar and its distance from    

           the hill.
Q.23 A toy is in the form of a cone of radius 3.5cm mounted on a hemisphere of same 
        radius. The total height of the toy is 15.5cm. Find the total surface area of the toy.





OR

          Metallic spheres of radii 6cm, 8cm and 10cm, respectively, are melted to form a    

           single solid sphere. Find the radius of the resulting sphere.
Q.24 If the pth of an AP is q and its qth term is p then show that its (p + q)th term is zero.

Q.25 If the three consecutive vertices of a parallelogram ABCD are A (1, -2), B (3, 6) and 
         C (5, 10), find its fourth vertex D.  
SECTION (C)

  6 Marks questions
 Q. 26 From a point on the ground, the angle of elevation of the bottom and the top of a 

          flag fixed at the top of a 20m high building are 450 and 600 respectively. Find the 

           height of the tower. 

                                                                       OR

        From the top of a lighthouse, the angle of depression of two ships on the opposite 

         sides of it is observed to be α and β. If the height of the a lighthouse be ‘h’ metres and  

        the line joining the ships passes through the foot of the lighthouse, show that the 

          distance between the ships is h(tanα + tanβ)   metres

                                                            tanα tanβ

Q.27 For the following frequency distribution, draw a cumulative frequency curve of more 

         than type and hence obtain the median value.       

	  Class interval
	  0-10
	   10-20
	  20-30
	  30-40
	  40-50
	  50-60
	  60-70

	    frequency
	   5
	     15
	    20
	    23
	     17     
	     11
	     9


Q.28 A bucket is in the form of a frustum of a cone. Its depth is 15cm and the diameters of 

         the top and bottom are 56cm and 42cm respectively. Find how many litres of water 

         can the bucket hold.

Q. 29 Solve for ‘x’ and ‘y’
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                                                                    OR

       For which value of k will the following linear equations have no solution?

                3x + y = 1, (2k – 1)x + (k – 1)y  = 2k + 1

Q. 30 Find the lengths of the medians of a ΔABC having vertices at A (0, -1), B (2, 1)
          and C(0, 3).   
        In fig. AB and CD are  two  diameters of a circle ( with centre O ) perpendicular to each 

       other  and  OD  is  the  diameter  of the smaller circle. If OA  =  7cm, find the area of the    

       shaded region.        B
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